Exponentialgleichungen

Aufgaben

Ll I

Beispiel mit Losung
Aufgabe:

Losung:
Logarithmieren:

Klammer ausmultiplizieren:

Ordnen:

Ausklammern:

Durch (Ig 13 — 1g 3) divi-
dieren:

Tastfolge mit dem

[Pd= 7 3

(x =2y 113 =lg 2= x - 13
x1g13~2-lg13=lg2 +x-1g3
%olgld = xalpde o2 2113

x-(gl3—-1g3)=1g2+2-1g13
Y_lg2+2-1g13

Ig13~1g3

x = 39712

[ 2 Jiog] + [ 2] x[13]10g] =]

Taschenrechner:
| =] ¢ [13]iog] = | 3]log| ) | = [3.971151]

Probe: T, (39712) = 1377122 — 31902 | 550

75 (397112 = 2-372= ) - 7848 = 156,96
AUFGABEN
a) 1,04¥=1.5 b) 1,045 =2 c) 1,055¥=25
a) 1800 -1,04% = 3450 b) 950 1,05 = 1625 c) 1685-1,0525¥ = 3560
’d) 7¥ =4§x+ 1 b) 3V = 4¥ — 1 C) 72.\‘ =10¢+ 2

a) 0,7 = 10,2401
a) 0,95 =0,6124-1.4

a) 10-6*=3-5+!

b) 0,45 =0,0911
b) 0.28% = 0,058 - 0,106

b) 24-3*~1=13,5-2x+1

¢) 0,52 =0,038
0.0226

<00

¢) 0,165% =

o) 2. 125 =47*1.32



